H & 0l & AHS B Ml A

FA: o2t
3 gy 29
el SEPHE 2 FHH 25t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
off 2ttt 57,491,795 55,944,023 1,547,772
= 10,453,000
== 40,038,79%
= 7,000,000
sty Aat 43,430,530 40,506,850 2,923,680
= 36,430,530
= 7,000,000
Sobje & ZdE 23t 43,430,530 40,506,850 2,923,680
=S 36,430,530
= 7,000,000
ZHOIUstE =X QUMEIE K& 390,000 390,000 0
308 AtXIEHMSOIE 390,000 390,000
01 AXEH B EES 390,000 390,000
OZHIOIHSE =Xl AHEE 390,000
T oo 2435t X2 14,400 24,000 29,600
308 XXM SOIA 14,400 24,000 29,600
01 XN BELES 14,400 24,000 /9,600
Ok gt 43t A= 14,400
SHEL sAE ANEE Saletft 240t s 100,000 0 100,000
[eZ]
207 ARl 100,000 0 100,000
01 S| 100,000 0 100,000
SHEE s4ME ANEE Sttt £
geor g1 100,000
galg N2dE TSI STAIE 4X XS 18,000 0 18,000
403 TR SHMSAH=01H 18,000 0 18,000
01 AR A =2 £ 18,000 0 18,000
Ogag XN2dE MIINSH SHAL &
PNIDNL=! 18,000
SOEI Ao § 2E 10,530 11,250 AT20
201 fer23y| 7,650 7,650 0
01 AtR2t2lHI 7,650 7,650 0
Ogtd ™ o5 § =29 7,650
203 =4l 2,880 3,600 AT20
03 A=A 2= 2,880 3,600 AT20
Odll2et siotAl HR=2 2,880
2ge 1285 2380t 29 40,000 0 40,000
201 er23 | 40,000 0 40,000
01 At2tltl 40,000 0 40,000
O=de 1, 225 2848t 89 40,000
SotEEd 2E(MEAIY) 114,600 109,100 5,500
201 fer23| 98,500 93,000 5,500
01 AtR2t2lHI 37,500 32,000 5,500
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FA: o2t
B O0IC A A3
el Mg =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 27,000
308 AtXIEHMSOIE 27,000 0 27,000
[ 27,000
01 XN BELES 27,000 0 27,000
OZAMAS ded+F oloEsHl A 27,000
= 27,000
4 XS de=EF 28 N3 (=12) 12,000 40,300 28,300
s 12,000
308 XM SOIE 12,000 40,300 A\28,300
[ 12,000
01 HXEHH B EES 12,000 40,300 28,300
Od Ng =% 28 N2 12,000
= 12,000
SN MEE HAESFRHI X (XHH) 5,100 5,100
308 XXM SOl 5,100 5,100
01 XN BSELES 5,100 5,100
O=ANY HEZ oia=FHl A2 5,100
Jlzdgb|gtEE, FUASSU, NS, e 9,406,750 10,068,750 2662,000
EEE S
[ 8,610,000
= 796,750
403 AXIEHMSAH=201H 9,406,750 10,068,750 662,000
[ 8,610,000
= 796,750
01 AR A =2 £ 9,406,750 10,068,750 /662,000
OSsaa X 9,406,750
s 8,610,000
s 796,750
AR 1,000,000 500,000 500,000
= 200,000
& 800,000
403 AXIEHMSA=Z0l1d 1,000,000 500,000 500,000
[ 200,000
= 800,000
01 XIS A=E £ 1,000,000 500,000 500,000
(OFSFSE=FIPNE:P) = 200,000
= 200,000
ORRL BHIIE AXAY 300,000
OHXld A=l EIYd ZAt 89 500,000
o JR0 =4 1,100 1,100 0
201 er23| 1,100 1,100
01 At2tltl 1,100 1,100
OAEHIZE A2 SYES ALY 2c 1,100




FA: o2t
B O0IC A A3
el Mg =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o & A XIS 18,000 33,000 A15,000
308 XXM SOIA 18,000 33,000 A15,000
01 XN B2 LS 18,000 33,000 /15,000
Odel & A XIE 18,000
SEEL 8 I SEAHE =8 100,000 0 100,000
207 ARl 100,000 0 100,000
01 18| 100,000 0 100,000
ON2xt SEEE & ItRJ| SgAHE =8 100,000
Hees (o2t 1,003,750 1,093,750 0
WA XIE 1,093,750 1,093,750 0
Neieols tle== Olktatet 1,093,750 1,093,750 0
705 Ol==dclsdE 1,093,750 1,093,750 0
04 Al - ZXSHLI|1S0=3 01 Ahatat 1,003,750 1,093,750 0
OXNSINLI = SAAI Ol Attt 1,093,750
Y 2IHHI(H2Eetmn) 70,980 70,980 0
Jl=23HI (G2 et) 70,980 70,980 0
Jl23HI(GH2&etut) 70,980 70,980 0
201 er2 3| 33,600 33,600 0
01 At2teltl 33,600 33,600 0
Odli2elt ge=d 33,600
202 04t 33,600 33,600 0
01 =LHOHI 33,600 33,600 0
Odi2elt gf= 33,600
203 =4l 3,780 3,780
04 PAE2EERFAH 3,780 3,780
Oofi2e 2t 3,780




